Exponenten von 10

—1x10=

Datum: Ergebnis:

4,19 x 10 =
3,36 x 10 =
7x10% =
8,84 x 107 =
8 x 10% =
8,1 x10=
1,99+ 10° =
4 x 10* =
3x10% =

10° =
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Exponenten von 10

6,24 + 10* = 0.000624
5,94 x 10° = 5940
—2x10°=-2

1,63+ 10° = 0.00163
—1 x 10> = —100000
9,92 x 10* = 992

6, 68 ~ 10* = 0.0668
10° = 1000000

10* = 10000

—1x10=-10

Datum: Ergebnis:

4,19 x 10=41.9
3,36 x 10 =33.6

7 x 10* = 70000
8,84 x 10* = 884

8 x 10" = 80000
8,1x10=281

1,99+ 10° = 0.00199
4 x 10> = 400

3 x 10% =300

10° = 1000
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